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State Eligibility Test - 2018
(Final Answer Key)

Political Science

Q1 How does H.D. Lasswell define Politics?

T, &, o T B 3 TR e 37

Struggle for power

g & foT gay

Class interest

geffar fea

Who gets? What? When? How?

FA?FIT? FI? FA ? U &

Common Good

AT fed

Answer Key: C

Q2 'End of Ideology' is related with which writer?

"TEaREURT 1 37’ forg orEs & Gafdd g2

Deniel Bell

HGRCKEL]

David Easton

3fag sTe

R.H. Chilcote

IR, . Ao

D | Marx




qFy

Answer Key: A

Q3 What is the correct order in which the following terms are enshrined in the
preamble to the Constitution on India ?
1. Equality
2. Liberty
3. Fraternity
4. Justice

HRAT HiGUT T SegiRIehT # AT v a7C el ersal 1 3ugerc e FAT & ?
oA QT §U e Fehd & MUR I T 3w AT

1) GAAT (FHTAT)

AR:GEGI

3) Ty

4) =g

4,2,1,3

4,2,1,3

3,2,1,4

3,2,1,4

3,1,2,4

3,1,2,4

2,1,3,4

2,1,3,4

Answer Key: A

Q4 The concept of 'Power Elite' is associated with whom among the following?

QATheT o 37TaTSTeT FaT bl ITURON fFafaf@d & & fohaes |y 53T 82

Jeremy Bentham

ST U

Schumpeter

%;TfﬁET

C |Pareto




Nex

C. Wright Mills

Ty —

Answer Key: D

Q5 Who said, "Over himself over his own body and mind, the individual is
sovereign"?

" 39 HeT Ud R X o §," eATeoii@c & & fohael har?

H. J. Laski

TS, ATEhT

T. H. Green

.. T

J. S. Mill

S.ug.fae

Bentham

DaF?m

Answer Key: C

Q6 Who was the constitutional advisor to the Constituent Assembly?

FfgerneT @ar & daenferss WASHT Sl A?

K. M. Munshi

F.0A.7AM

T.T.Krishnamchari

& & HeoTEE

B. N. Rau

ST

D. P. Mishra

P Loy v fvar

Answer Key: C




Q7

Khilafat movement in India was started to show solidarity with which Country's
Sultan?

fAet 7 @ o T & ool & TTY Teholed el & v 7R & Tt 3Hleelelet I
YEITT g5 A2

Iraq

T

Iran

ST

Saudi Arabia

R ETARKIEC]

Turkey

GER

S

Answer Key: D

Q8 Which of the following books has been authored by Atul Kohli?

fAFfaf@d & @ it @ qEaeh 31l Higell ganT fordy 78 &2

The Idea of India

g 3msf3ar 3w sfOsar

India after Gandhi : The history of the world's Largest Democracy

sf05ar 3o aMmelT: & RECT 31T ST Tosd dARSIEC SHShAT

The Success of India's Democracy

& gFaH 3T fUsaTST SARET

The State Against Democracy : In Search of Human Governance

& T 3ETEC SARKET 1 3T T AP egFA A9

Answer Key: C




Q9 The Provision that 'There shall be Council of Ministers with the Prime Minster' to
aid and advise the President, is provided in which article?

Ig IaYTel fohar 3fefeie & feam ara & foh Irsgufa i Aerarar ud delrg & fav yeras = afgd
T AfFIRYe gl ?

Article 72

3o 72

Article 73

HTTIG 73

Article 74

T 74

Article 75

D

3o 75

Answer Key: C

Q10 What is the adverse/oppsite of accountability in Public administration ?

iR YRATHe H STaTeice! eaifaiad # & fehaeh [l 8?2

Responsibility

ELECAIE ]

Centralization

g IIhIOT

Decentralization

ICEARETY

Delegated authority

EEGERIBEIRGIE

Answer Key: D

Q11 Indian administration during the British colonial rule was in the hands of the elite
cadre of generalist officers of the :

ffeer sfufarafire eme & SRIeT R TR ArHgshd it & fafise st & grat
Hr




IAS

. T.T

IFS

37S. U6, T

ICS

.

IPS

Ms.9ruy

Answer Key: C

Q12 Mary Wollstonecraft is known for her which theory?

Y JeacIe 39+ fore Riguid & fow Sl e 82

Labour Rights

A+ IVFER

Women Rights

AfeT HAFR

Peasant Rights

fRaTeT s

Child Rights

CICIRICETEY

Answer Key: B

Q13 The concept of 'veil of Ignorance' is related to:
' ATAT T J&T' TR T &

Hayek

e

Nozick

ENEED

C |Rawls




9]

Ted

Walzer

D
dlesi

Answer Key: C

Q14 The federal council of Switzerland is:

aesrols $r geT aRve HrRuTew §:

Single Executive

Uehol IR oIehT

Plural Executive

agarao‘reiqﬁar

Despotic Executive

foreper ot

Nominal Executive

DQ‘cﬁaﬂWa:rércrrﬁa:r

Answer Key: B

Q15 Given below are some statements about a constitutional government. A
constitutional government is:
(i) One where authority is derived from the constitution
(ii) a form of limited government
(iii) where the head of the state enjoys nominal powers
(iv)one where the constitution and the laws limit the exercise of powers
Select the correct answer using the codes given below :

oA FAUTTAS THR & Foaetl H FS HYT QT T | Ueh FduTfash THR a §:-
I IS afdure & dar gred $r St g

I1 AfAT TFHR FHI 37

111 ST8f IS o 7ETLET & UTH ATHATT FHI ATFTAT gt §

IV STgT ST Td hiefel TRAR T AfFAT TR 31eher o9mmed §

=71 foRg 1S T JTeT kel §U HEY 3T AT

A | (i), (ii) and (iv)




1,11 va IV

(ii) , (iii) and (iv)

11,111 ©§ IV

(i), (i) and (iii)

I,II vg III

Only (ii) and (iii)

ahaol II Tg 111

Answer Key: A

Q16 Who gave the statement that "Poverty is the the worst form of violence" ?

"I fEaT o fAeaH 9ER & I8 U e § ?

Hobbes

Al

Manvendra Nath Roy

HlAdegeATd TF

Mahatma Gandhi

HETCAT MY

Walzer

dleol

Answer Key: C

Q17 Who among the following scholars has talked about the politics of scarcity in
India?

Arfafed & & fora fagareT o HRa H 3131 I AT T Toieh fhar g 2

W. Morris Jones

ool AMRY ST

Paul R. Brass

il 3.1

C |Paul Wallace




dieT dold

Myron Weiner

Dnrarrrahm

Answer Key: D

Q18 Which one of the following is not a function of the UPSC ?
T AATTEd A ¥ HieT 6@ F E el dar 3er (LA uHHL) HI A § ?

Advice the government on disciplinary matters affecting civil servants

IR T olleh Haehl o A HeATCHD HHAT H HeAg el

Advice the government on all matters relating to the transfer of civil servants

h el & TR0 ¥ Grafoud T3l ATHT & TR H Folig Sall

Advice the government on the suitability of candidates for promotion

TFHR F A Adeh! I Galeallad T ATAT & el H Tollg STl

Advise the union government on all matters relating to the method of recruitment
and principals to be followed in making appointments to civil services

heg; TR T elieh Aaeht Al 37l bl Teifdd F it g antal deh & fAeuial oY Helrg &t

Answer Key: B

Q19 Which of the following committees was the first one to demand constitutional
recognition for panchayats ?

Fafaf@a & ¥ oo ugd forg afAfa & daradY TS cgarerr s gdufas o e s &r
HiaT $7 ?

Ashok Mehta committee

3720 Hgar afAfa

Santhanam committee

s gfafa

G V K Rao committee

St df & 9 g@fafa

D |[Balwant Rai Mehta committee




Answer Key: D

Q20 Where does the term 'spoil system' apply?
'TC SHAEUT' 2Tsc; gl I AL Bl 2

Merit bureaucracy
AR Awvemdr
Patronage bureaucracy
T sAlehermgr

Caste bureaucracy
ST SHtenTRmer
Guardian bureaucracy

3ifReTas seemer
Answer Key: B

Q21 Which political concept was described by Edmund Burke as the most shameless
thing in the world?

USHS S AN v Tateliiaien feHia &1 gferar i Fa@ aeiare avg & &9 & aRenfid famar
IRAT &2

Tradition

RERT

Revolution
EQIC]
Democracy
CICTES
Rights

kI IBEDDy

Answer Key: C

D




Q22 Which one of the following statements is not correct regarding Aristotle?

ffaf@d & & SisT a1 R YeT IRE] & Fraetr & S 7161 872

There is subordination of inferior to superior

fAFTaR T Ase & el glar g

Men is by nature unequal

F Y 2 I &

Slavery is justified because it does not secure the best conditions for the slave

ST ~ T § iR g ardt & forw Fafas ardraRor et =t el &

Women, by nature are subordinate to men

ATGATY Thicd & &1 I8 & HefeT &

Answer Key: C

Q23 Which of the following countries has a very rigid constitution amending procedure
P2

ITafad & & Ty ¢ # giaurs ey $r ufehar i sfed 872

England

ECCES

America

ARG

India

AR

France

D[ .
e

Answer Key: B

Q24 Marx does not believe in

AT it #H & fohden! s1gT AlAd § ?

A |Ideas are the reflections of the interplay of material forces




AR $ifae ufFaat i s T s ufafReg Qo &

Human consciousness determines social existence

AT AT Ao 31fedea T fAeRor e &

Matter is active and dynamic

9eTy aiehT ud afaeiier glar &

The base determines the superstructure

P TR AT 1 fAuRoT e §

Answer Key: B

Q25 Match the List - I with the List - II and select the correct answer from the cods
given below :

List-I List - II
(Authors) (Books)
(a) John Rawls (1) Idea of Justice
(b) Friedrich Hayek (i1) The Republic
(c) Plato (iii) A Theory of Justice
(d) Amartya Sen (iv The Road to Serfdom

-1 o1 F=T-11 & @1 et HfST 3R A 6 370 S # & FE1 3R H1 90T

Sel Sl
(FrEF) (qecTeh)
T) ST Jed 1 3msf3ar 3% Sew
d) wsRa gras n&r Duleas
) worer N TEIRT 3% Sed
3 A JA v & A5 T THsH
@ () (© (@@
Gii) (iv) (i) ()
o @ @ @
Gii) (iv) (i) ()




(@) () () (d
(iv) (i) (i) (i)
T @ @ @
Giv) (i) (i) (i)
(@ (b (© (@
(i) (i) (iv)  (iii)
‘@ @& @& @
(iy (i) (iv)  (iii)
(a) () (© (d)
Giy (i) (i)  (iv)
(© @ & @
Giy (i) (@) (iv)
Answer Key: A

Q26 The Indian Federal system differs from the American Federal system in respect of
*  the following :

(i) Representation of the states in the upper house of the Federal Legislature

(ii) Existence of a written constitution

(iii) Vesting of Residuary powers in states

(iv) Dual Citizenship

Select the correct answer from the codes given below:

R T qeufa AR €T caedm § rafeiad & ¥ fhas deaey 7 e § ?
I T AUTHAYSS & 3T Heol & Tl Al Uidfaraed

11 fof@a afdure gar

111 =AY Y 37ATRASE ATFTAT YT TR STl

IV aredr SAreTRendr

A QU 97T FI3 7 A T I FH TIA IS

(iii) and (iv)

I1I 3T IV

B | (i) and (ii)




I3R1I

(iv) only

Fad IV

(i), (i) and (iii)

D

I,II3RIII

Answer Key: A

Q27 Under which of the following the constituent assembly was set up?

afaensr g9 faesr 7 & fhash 3tedera Turid & 18 ofr?

Nehru Report

ag® RAIE

Wavell Plan

gl TlTeT

Cripps Mission

EAREEGH

Cabinet Mission Plan

FHiaae A o

Answer Key: D

Q28 Who tried to periodise Indian politics in terms of the tussle between a "demand
polity" and a "command polity" ?

HRART Toleiifa &Y "ATeToeT saaear” 3R "3MeTcHs caasar” & $a JuY FT Fidl Faa
AT E ?

Partha Chatterjee

qraT IEsi

Rajni Kothari

TSl AISRY

Myron Weiner

AR Aol




Lloyd and Susanne Rudolph

? | ifere 3ik g wetew

Answer Key: D

Q29 To which concept is attributed the idea of 'A Rhetorical Nonsense upon Stilts'?

SATTET 9X feeh efsesh sehare (Rhetorical Nonsense) @ faaR foha factia & SsT 872

Natural Theory of Rights

HfRRRT 1 repfcien [etia

Historical Theory of Rights

SR 1 el @eand

Legal Theory of Rights

HRIFRT &7 e fAgura

None of these

A A IS T

Answer Key: A

Q30 Social Contract Theory is associated with which political concept?

AT THASHIT T [Feend fha Tsiiiaen FaUReT & Foaietd §?

Origin of State

T &1 39

Nature of State

Ty I Fehfd

Nature of Man

HIST T Fehfcl

All of these

T ger

Answer Key: D




Q31 Anti-defection law is incorporated in which Schedule of the Indian Constitution?

goT-agel faRre et Y Hfaere @ R Jrege F T I g2

8th

314t

9th

stdt

10th

CEEE])

1 lth

D

TIREAT

Answer Key: C

Q32 Where and when the 7t Summit conference of the Non-aligned Movement was
held?

- fARAeT el T Frcidl RITR TFAelT Fel IR e 317

New Delhi - 1983

7S fdear - 1983

Harare - 1986

gIY - 1986

Belgrade - 1989

derdg - 1989

Jakarta - 1992

SAhTar - 1992

Answer Key: A




Q33 Match List I with List II

List-I List-II
(Authors) (Terms)
(1) V.Pareto (a) The ruling class
(2) G.Mosca (b) The non-governing elite
(3)R.Mitchell (c) The iron law of oligarchy
(4)S.Lukes (d) The three dimensional view

TA-1 O 11 A gafard Hifed:

- -1l
(=) (erecTare)
1) draer T) emEr el
2) A dn) IReér fafdrse aat
3) IR fAda o) sreudT @ g AEH
4) THTgFH 3N f-3mamdr efSehior

(1) (2) (3) (4)
®) (©) (d) (a)

nm @ @ @
@ @ @ ([

(1) (2) (3) (4)
(b) (a) © (d)

hn @ @ @
@ (©® @ @

Hn @ 6 &
b) (¢ @ (@




M @ 6 @)
@ @& @ @

I @ 6 @
by @ (@) (o

hn @ @ @
@@ & @ @@

Answer Key: B

Q34 Who is regarded as main propounder of 'Positivism'?

foet 7 @ fohdY 'IcTeTare’ T HTT Ydceh Hel Sl g ?

August Comte

3TIEE P

Germeno

STHTAT

Machiavelli

AfraTaelr

Robert Mitchells

B e rreer

Answer Key: A

Q35 By which constitutional amendment it was inserted that "the total number of
ministers, including the prime minister, in the council of ministers shall not
exceed flfteen percent of the total number of members of the house of people"?

fora afaure F@eutes ganT 3ed: Tenfaa forar o= f "ARARYE 7 guradd afga ARar
Fol TEIT olleh T o TETAT I el TET o Yoerg Tl & 3iferen ofeh grafr'' ?

52

52

B |58




58
91
91
93
93
Answer Key: C

D

Q36 Which one of the following book has been written by Manvendra Nath Roy?
7T & @ HlTE GEash Aeldeg A1 AT A 7L forgr g2

Reason Romanticism and Revolution
{5t TATTeTeH Tus Ralegere

India in Transition

HERIECRAET D)

States and Minorities

T UUS HASAIRIEST

The Problems of India

&Y Ylseleg 3iTw sfUsar

Answer Key: C

D

937 Who for the first time separated Politics from Ethics?
forear FAvH Tt fel A st ST e & g R ?

Plato

coreT

Aristotle

JTET

pel

Machiavelli
Hfraraeh

Hobbes
D A
g




Answer Key: C

Q38 In the question given below are two statements labelled as assertion(A) and

Reason (R). In the context of two statements which one of the following is correct
?

Assertion (A) : According to Aristotle, 'The state is prior to individual'.
Reason (R) : According to Aristotle 'State is a natural institution'

A R 9T wreT 2 &Y Ay R T, e & v A e (T) 3R gEY Y aF (3)
T IAT §| 3T gaFacal & Tegd & A5 & T FiT TET &

ARG (T) : INEG & HTAN, T AT &7 qdamah 31"

% (3R) : IRE] & AR, ‘T Teh wiH a1 HEAT B’

Both A and R are true and R is correct explanation of A

T 3 31X @ T § 3R 3R, T T T8 I g

Both A and R are true but R is not correct explanation of A

T 3R 3R &l T §, W 3R, T I TEY AT 78T &

A is true but R is false

T I ¢ ofhed 3R AT &

D

A is false but R is true

T 39T ¢ ofFd IR T §

Answer Key: A

Q39 Match List I with List II and select the correct answer from the codes given below:

List | List 11
(a) State is a moral institution 1. Idealist
(b) State is an artificial institution 2. Marxist
(c) State is an institution of exploitation 3. Contractualist

(d) State is an unnecessary evil 4. Anarchist




-1 3R G- 11 & gATIT RS 3R T 73 o=t et & Fqer Ashed 1 77T RIfSC:

-

T) ST Ueh dlfae Jzem g
d) TsT U FEAA WA F
®@) TsT AMYUT T IT §
) ST U IHATETF [E §

-1l

1 3TELEmEY
2 ATFETEY
CREEIRIEICY
4 IRTTHATATET

a b C d
2 3 4 1
T @ @ @
2 3 4 1
- | b B d
3 4 2 1

3 - 2 1

Answer Key: A




List I
Books

a. Arthashastra
b. Hind Swaraj
¢. India in Transition
d. The Human Cycle

-
(JETh)
T) 379TemES
o) e Fau=
o) sfPsar 3 grefiereT
) & egHeT wrsed

Q40 Match the following lists and select the correct answer :

List II

Authors

1. M.N.Roy

2. Kautilya

3. Mahatma Gandhi
4. Aurbindo

foe=T iRt @ gATIT X Td FE 3R & 7T HIfAT

-1l

(rEh)

1 TH.UA.3T
2 HifeeT

3 HgTcAT e
4 arfawer

a b c d
2 1 4 3

(@ @ & &
- S 4 3

= b c d
3 2 4 1

T @ @ @
3 2 4 1
a b c d
2 3 1 4

C




a b c d
3 2 1 4

(@ @ & =
3 2 1 4

Answer Key: C

ListI

a. Rule of Law

b. Separation of Powers
c. Natural Rights

d. General Will

-
T) Hlefel HT AT
oY) erfeFal T grerehiat
&) grepiden e
3l) HTAT gTal

Q41 Match the following lists and select the correct answer:
' List II

1. Montesquieu
2. Rousseau
3.Dicey

4. John Locke
fore=T giaat sy gAfAT Y 3R T 3T T T HIT :

-1
1 ATUSEFY
2 &4

3 SrIEr
4 el @i

a b C d
3 1 1 2

A
(@ @F & 3
3 1 4 2
b C d
1 3 2 4
B




C
(@ (@ & (S
4 2 1 3
a b o d
3 1 2 4

D

(W (@ & &
3 1 2 4

Answer Key: A

Q42 \Which one is not correct regarding British constitutional system?

foreet & wanfae sgaedr & WeedT A foet 7 &leT A 481 82

Brtain has unwritten Constitution

foeet 7 faf@d dfqurT &

It has system of Judiceal Review

TET 1A% YT cilehel hl STTEAT §

It has Parliamentary Sovereignty

TET THET TFIHAT &

It has Rule of Law

TET FlsleT T ATHA &

Answer Key: B

Q43 Which one of the following is not an instrument of direct democracy?
5T & q Pl 'TcTeT ISiided' T IT ALY 87

Referendum

SFAHT TG

B |Initiative




3RFHT

Recall

ERRICRE]

Filibustering

Answer Key: D

Q44 Match the following lists and choose correct answer from the codes given below.

List | List I

a. Glorious Revolution 1.1979
b. French Revolution 2.1917
c. Russian Revolution 3. 1688
d. Islamic Revolution of Iran 4,1789

oot gt T gAfoT Y 3R o a1 e & & FE I AT wIA AL

- -1l
T) IMGHAT Fied 1 1979
&) wrET Fifed 2 1917
1) 7 FIed 3 1688

3 A Fr STHTAS Plled 4 1789

a b ¢ d
3 4 .1 2

(@ @ & &




@ @ @ @
4 1 3 2
a b o d
1 2 & 9@
D

(@ @ E ()
1 2 & 4

Answer Key: B

Q45 Max Weber identified three types of authority : They are following:
Hg aR A AT YR AT 'TAOT 1 3oo@ AT 8 9 [eT 8

Traditional,Cultural and Charismatic

R, A e 3R FHRedAmardy

Traditional,Charismatie and legal-Rational

RERTEE, HRAERT 3R durfas-fads a&=ad

Charismatic, Cultural and Secular

FHReATEE, grEhias 3R a7 f[Axaer

Cultural,Secular and legal-rational

ArEhiae, e fAReT 3R dunfae ds geaa

Answer Key: B

Q46 Arrange the following events in correct sequence :
1.Non Co-operation Movement
2.The Jallianwala Bagh Massacre
3.Champaran and Kheda Agitation
4.Chauri Chaura Incident




et TeaT3i A 8T FA H gaftyd Hifaw:
1,318 3ecroled

2. STAITATeT ST9T FATER

3. 9FIRA 3R WST Hegreled

4. IRT FIvs

3,2,4,1

3,2,4,1

3,2,1,4

3,2,1,4

2,3,1,4

2,3,1,4

4,3,2,1

4,3,2,1

Answer Key: B

Q47 Which Constitutional Amendment Bill introduced reservation for economically
backward classes?

i @ FauTfas e e & gany 3 &9 & Aos gaif & fow 3metor i saaear 1 82

120

120

121

121

122

122

124

124

Answer Key: D

Q48 Which statement is not correct regarding government of India Act,1935?

R a1 ATATATH 1935 & oGl H el AT FYUeT T oIgl g ?

A | The Act introduced provincial autonomy




sﬂaﬁﬁuﬂﬁqﬁumwmagaﬂ

It made provision for the establishment of Reserve Bank of India

g sfafags & Reg d& 31w sfsar S Tar9«r w1 graure fomar ar

It provided separate electorate for the Muslim only

ol HHATAT o TN 376197 FoATd YOIl T AT T =Y

It provided division of powers between center and states

39 & AR sheg AR Tledl & ard rfFadl o TEaR FHr STGEAT i =T

Answer Key: C

Q49 In the Indian Constitution, the Right to freedom of Religion is granted by four
articles. They are

HR & HiGUTe # 'e1fdieh Tacdead &1 IUFHR TR Ifeoe GaRT YeT fomar amr g: 9 &

Art. 14 to Art. 17

ITeRE 14 § 3feoe 17

Art. 18 to Art. 21

3fede 18 & 3ieede 21

Art. 22 to Art.25

3TedE 22 ¥ 3efeoe 25

Art. 25 to Art.28

D

Igede 25 @ Jewoa 28

Answer Key: D

Q50 The concept of Hegemony is associated with

YT (TIEd, goidetr) o1 Ry fraw arafeua § 2

Lenin

olfelet

Mao

ATAHY

C |Gramsci




Y

Max Weber

D

Hag aX

Answer Key: C

Q51 Which among the following is not an organ of United Nations Organization ?

fAeT 7 @ FleT FYFT TS T HT 39T LT § ?

The General Assembly

HeTaeT

Security Council

I&T IRve

World Bank

IGECICED

The Secretariat

g

Answer Key: C

Q52 'SAFTA' is related to:
ATFeT (SAFTA) &6 &

SAARC

e o

ASEAN

AT &

OPEC

s &

WARSAW PACT

arar Yee @

Answer Key: A




Q53 Which of the following is not a feature of Liberal view of Politics:

A forEY it O AT TSafa & 3GRATET TISeahluT &I 181 g

Politics is a group activity

TSt gt b arfafafer &

Politics involves use of authorty

TS & a1 1 YA9T 81T §

Politics is an unstrument of class domination

STl J97 T3ged T 3T §

Politics is an instrument of promoting common interest

P TS AT f8d o Sgrar & &1 are g

Answer Key: C

Q54 Which one of the following statements is correct?
T 7 & Sl a1 U T 8?2

John Rawls used empirical method for this theory of justice

SiieT ol o 39 =41 & Fleyia & 3rejeriaen fafer &1 g fhan

Lenin was liberal socialist

ST 3eR gATSadr ar

Marx propounded hegemony theory of state

AR o T & I (q9Ed) & Feid &1 gfadest fhar

Gandhiji advocated Parliamentary system

P ey S o TEST STIEAT T FHYA T

Answer Key: A

Q55 In the question given below are two statements labelled as Assertion (A) and
Reason (R) . In the context of these statements which one of the following is
correct:

Assertion (A) : Revolution brings total change in beliefs and aims of system
Reason (R) : Glorious Revolution look place in Britain in 1688-89




et G a1 vt A § ey & 9 §,36H A Tk &l 3Ry (U) 3R gaX &1 dF (3R)
gl IAT| 37 g & Togd & 7T F T FlT TE & ?

HHFHYT (V) : shifd cgaedr & favarat 31T 3egeat # qut aRads @ §

o (IR) : el 1688-89 # foreet o ailkasralt wifd g5 o

Both A and R are true and R is correct explanation of A

T 3R 3R il I g 3R 3R, T Fr Tgr e 161 &

Both A and R are true but R is not correct explanation of A

T 3R 3R et 6 § o] 3R, T T TET A1 §

A is true but R is false

T T ¥ Jfdhed IR 3T &

A is false but R is true

T 30T ¢ ofhed IR AT &

Answer Key: B

Q56 The core idea of ancienit Greek Political Philosophy is :

ZATelT Tstetliceh Geiel T #Hel faer &:

Social Equaity

AT FATAAT

Liberty of the Individual

SGTFAITT TadFAT

Good Life

IS et

State Sovereignty

m@rqagw

Answer Key: C

Q57 The term'One Party Dominance System' was coined by which political scientist?

'Teh el efcd YoTTell' &l v Tsteifder faearer o yfcarfed famar?

A |W. Morris Jones




sscg, AIRY Siled

Rajni Kothari

TS ST

Atul Kohli

e e

Charles Taylor

e ol

Answer Key: B

Q58 The slogan of 'Relevance and Action' was adopted by the following :

'grafArear 3R fraelierdr 1 ART et & garT 39=TrT a7

Behavioural Apprach to Political Theory

TSTeAter FAGHTd & SIdgRaTeT 3UTTH

Tradinal Approach to Political Theory

Totelifl fAgHTe & qRFaRIandY 39rers

Post Behavioural Approach to Political Theory

Teiifa Rigyid & 3TR-cgagRarT 34T

Historical Approach to Political Theory

ISl Rigyra & Ufderfas 39

Answer Key: C

Q59 Which one of the following countries introduced universal adult franchise in one
‘' go?

=T & @ et A < A T & IR A IEh AR 19 fham ?

U.S.A

ARG

Australia

o

C |U.K




EECES

India

D
AR

Answer Key: D

Q60 \Who among the following was a great supporter of plural or weighted voting?

ﬁmﬁ@raﬁa'agﬁmaqm'mmaﬁmm?

Benthan

ST

J.S. Mill

S.ug.fae

T.H. Green

a.w. T

Kant

hleC

Answer Key: B

Q61 BREXIT relates to which country?
fofFstc(BREXIT)fha g2r & Hedfetd g2

United Kingdom

[ECo)

United States of America

TgFd T IARHT

Brazil

CISIGH

France

D[ .
Hra

Answer Key: A




Q62 Which one of the following is not correctly matched

o 31 & ey eI @ ¥ 2

Division of labor: Adam Smith

o7 1 Qe : vsH Y

Theory of economic maturity: J.S.Mill

e aRueradr &1 Feuid @ o vd. Ao

Principle of Population: Malthus

STTHEAT T HeHTd : AeUH

Under development of Africa: Walter Rodney

3TPIeRT T 3769 31 : aTeed User

Answer Key: B

Q63 Arrange the following Chief Election Commissioners in chronological order of their
‘' tenure?

1. J.M.Lyndoh

2. T.N.Sheshan

3. R.K. Trivedi

4. S.Y. Quraishi

AT HET AT 3 I 3eTeh BRIl o HIel HALTHR ARSI P
1 31.vA.foeE

2 & AT

3 3R.&. B3

4 Tg.arg. B

3,2,1,4

3,2,1,4

3,2,4,1

3,2,4,1

2,3,4,1

2,3,4,1

4,2,3,1

D
4,2,3,1

Answer Key: A




Q64 Khan Abdul Gaffar Khan is also known as following:
QleT 37egel IFHR Wel' Y a1 AT7 F 8 ST STl g

Frontier Gandhi

AT ey

Gurudev

TRCH

S

Lion of Sindh

&=t &1 I

None of these

T A PG TG

Answer Key: A

Q65 Directions: In the question given below are two statements labeled as Assertion
(A) and Reason (R). In the context of those statements which one of the following

is correct?
Assetion(A): India has a written constitution.
Reason (R): There was a constituent assembly in India

o1 & 91 weeT 3 af garded e o &, e ve &l TR (U) 3R qEy & & (3W)
HET ITAT & 3T dFdcAl & TeeH H T H A PT A TS & ?

3ITAFUA (T) : HRT &1 T Taf@a afaen g

dH (3R) : $IRA & T Giaens qsm oAy

Both A and R are true and R is correct explanation of A

U 3R 3R el G ¢ 3R T T o e IR g

Both A and R are true but R is not correct explanation of A

T 3R AR Sl e § W] T T HET STTEAT 3R e &

A is true but R is false

T I ¢ ofthed 3R 30T &

A is false but R is true

T 39T ¢ ofded IR T §




Answer Key: A

Q66 \Who was not a member of the Cabinet Mission that was sent to India in March
19467

AT 1946 & IR H A T '$ieac TRAT' &7 HieT G AgT AT?

Lord Penthick Lawrence

o1s U aew

Sir Stafford cripps

W T©ws ey

Lord Wavell

CIEKCICE

Mr. A.V. Alexander

U, dY. TolFatesT

Answer Key: C

Q67 When was Dr. Rajendra Prasad elected as the a permanent President of
Constituent Assembly?

31.Tolee; JHTE; T AL HIT hT TUTY 3EULT el IoAT IAT?

26 January 1947

26 STeAadl 1947

15 August 1947

15 39T&d 1947

11 December 1946

11 feasaT 1946

None of these

SoTd & IS TGN

Answer Key: C




Q68 Which of the following is not properly matched?
States Allocation of seats in Rajya sabha

fAFfafEd & @ Sl AT g1 § 271 &1 ToF Fe1 & ek 7 e

Bihar:16

f9gr :16

Madhya Pradesh: 19

HqET ge2r 119

Tamil Nadu:18

aﬁﬂ?ng;:ls

Uttar Pradesh:31

3 e 131

Answer Key: B

Q69 Which of the following pair is correctly matched?
foiet & & leT @1 SieT AT 872

Star war: Xioping

AeT-ger: foramsniaer

Four Modernizations : Stalin

R JTYfehIentor : Eerfele

Cultural Revolution: Reagon

HiEhiceh ifed @ AT

Glasnost: Gorbachev

Gell9el (TelE=AIEe) : e

Answer Key: D

Q70 UNO declared Universal Human Rights on:
YFA TS T (T30 o WreeiifAes Arctanftinr v awom 6

15 August 1947

15 3191&d 1947




10 December 1948

10 feHsaT 1948

9 November 1949

9 sqFs¥ 1949

10 December 1950

10 fegFaT 1950

Answer Key: B

Q71 The World Trade Organization was designed to:
faeg IR HeTaeT 38 366 AT I

To supervise and liberalise international trade

3ecRISEIT SITAR ST G&T0T el IR 39 36N Folel

To settle political disputes

TSteifae faarer &1 fAYeRT T

To design strategic initiative

TeeToleh ATl @l Sellel H Ugel el

None of these

$TH P G

Answer Key: A

Q72 Which country has been included as 8th member of SAARC in 20077
T afafaa # FiF ar gy T 2007 H T & ST TTT F 39 H nfer fomar = ?

Nepal

AqTel

Afghanistan

RfAEdT

Pakistan

qrfehedre

D |Bhutan




HTA

N

Answer Key: B

Q73 Who sated that 'negative liberty is superior to positive liberty'?
el gl & o TPRIcHS TITTAT FT TATT HHRIcHS Tadeadl H 3= &

J. S. Mill

S.ug.fae

Bentham

ST

Isaiah Berlin

EXIRICICC]

T. H. Green

P a.w. T

Answer Key: C

Q74 Which country is not part of BRICS?
=T & & i I ¢2r [9ad@(BRICS) T T g §7?

Brazil

CISIGH

India

AR

Sweden

LG

China

Pl

Answer Key: C




Q75 Which of the following statement is related with Marxism?

forre & F i T FUT ATFYAIE ¥ Tafoud &

State is the march of God on earth

T &Rl W $3a & adr &

State is a necessary evil

AT Teh HGLTh S &

State is an instrument of exploitation

TSI AMYOT T Teh Tod &

State is a co-ordinating agency

5T Ueh GH-aTS TEAT §

An

swer Key: C

Q76 Which one of the following is not correct?

e & O =iar ggr JAgr 87

Article-202-annual financial statement of states
8 3eTese 202 - ST T ariens faedir fawor
Article 203-procedure in state legislature with respect to estimates
8 3eTeae 203 - ol faEreT Aol & leehelall & Td-t & Fishar
Article-204-Appropriation bills of states
© | 3o 204 - it & faferar Faerr
Article-205-votes on account
? 3eTese 205 - JEeme
Answer Key: D

Q77 Which article of the Constitution is related to the privileges of members of

Parliament of India?

AR & TG Teedl & [AANTRSRT § Frafrud afaur &1 Hld a1 3w § ?

106

106




105

105

107

107

108

108

Answer Key: B

Q78 Kyoto Protocol is related to
FIICY PeThiel TFdieed &

Democratization of UNO

TYerd TSE HY & Tl AehioT &

Environment Conservation

qITaIoT EIETOT

Poverty Eradication

eI 3ees &

Reduction in Nuclear Weapons

AT BTAART # et &

Answer Key: B

Q79 Which of the following is neglected by traditional approach of comparative
politics?

JelATeHE TSl & TORTET 3TTH oF foyost 3 & forehr 398t #r &

Empirical study

341?;84@? I

Study of the government

TIhR hl 3T

Comparison of constitutions

HiaEt & Jera

D |Study of institutions




GEATT T 7ETTT

Answer Key: A

Q80 "Imperialism is the highest stage of capitalism". who made this statement?

'HATGIATG Yoilare &l Halod HaeAT &' TG ST fheam § ?

Marx

qFy

Lenin

olfelet

Stalin

Terfore

Kaplan

D
hITellel

Answer Key: B

Q81 Which one of the following is not a totalitarian type of government?

T F ¥ FIGATcHS I ST &Y 8T & ?

Parliamentary form of government

TEET THR

Communist government

G TSR

Military government

#fad TR

Fascist government

DWW

Answer Key: A




Q82 Constitutional government is-
(i) Limited government
(ii) Authority is derived from the constitution
(iii) Constitution and laws limit the exercise of power
(iv) Head of the state enjoys nominal powers

Select the correct answer from the codes given below
TaHTfAes THR §-

1 @ifAT TR

2 T AU ¥ yred Y S §

3 faUTe T FrefeT AR & FArer B WA A

4 T & T & A AT 1 AfFaar g g &

e R a1y et # & WY I T W PR

(i), (ii) and (iii)

1,293

(ii),(iii) and (iv)

2,334

(i),(iii) and (iv)

1,394

(i), (ii) and (iv)

1,294

Answer Key: A

Q83 Who classified bureaucracy into four categories?

SAlehemTer T TR AT H fonefer gafiepet fohar?

Max weber

AT o]

Taylor

o

F.M. Marx

U UH. ATFY

Willonghby

IECIEE]]




Answer Key: C

Q84 In which book Gandhi has described western civilization as satanic:
e o FohE GETeh H qREHT T I AcTlelieh FITT Fgl §:

My Experiments with Truth

T & AT A JII9T

History of satyagraha in South Africa

i@l anhrerr & Tcamrg 1 sfagr

Hind Swaraj

e FaUsT

Sarvodaya

Fafed

Answer Key: C

Q85 According to which thinker, 'Ideology is manifestation of false consciousness'?

fore faaRe & 37aR 'faar-arr fer Jaar & sficafaa § 2

Hobbes

A 1Y)
gieq

Locke

B | _
ollsh

Marx

AT

Rousseay

e

Answer Key: C

Q86 "Development is a state of mind, a tendency, a direction rather than a fixed goal,
it is a rate of change in a particular direction" - Who made this statement?




e veh AT 32 1 Jofell & HeT T Ueh 3HaEUT, Teh Yephid, Th e &; Tg U AW
eRI # IRacT T Teh & §- TE A fohaehr & ?

Edward weidner

USds aIsse}

F.W.Riggs

T, See], Rew

Gulick

EI\EED

S

L.D.White

To.3).ase

Answer Key: A

Q87 Who termed the self reliant villages as' Little Republics'?

37TcA TR ailar & e ‘o IR | Felfed fohar § 2

Sir Charles Metcalfe

W Aoy AcHIb

Lord Linlithgo

s forstfereram

Lord Mountbatten

IS A3cscd

Lord Curzon

CIEE

Answer Key: A

Q88 Value added administration is known by which name?
Hod IR TR fohd AT & ST I & 2

New Public Administration

AdIeT olieh URHeT

B |Development Administration




Tarr g et

Traditional Administration

ORI 9l

New Public Management

D

AdIT ol Jaed

Answer Key: A

Q89 What is the time limit for disposal of a mercy petition by the President of India?

HR & Togafd GaRT & ATfAeT & fAEaRoT §q a1 T da 872

One year

Ueh HTel

Two years

ar gret

Three years

GIGEIGH

No time limit

D

FIS T AT AL &

Answer Key: D

Q90 Which one of the following is not a feature of liberalization?

T H T PIAAT 3GRIHIUT I o80T TaT g7

Disinvestment

ICIGEE

Reduction in powers of bureaucracy

R T ATFT FaT HLaT

Empowerment of bureaucracy

ARTATET T 2ATFIRIOT

D |Minimal state




e ddH T

Answer Key: C

Q91 Under which article of the constitution Parliament has the power to legislate on a
subject of the state list in the interest of the nation?

HTALTeT & fohd 3TeTeee & Heddld HHe Sl Ao Tl & fordr fawar o aeefed & fafer fsor
1 IRFR § ?

Article 254

3geoe 254

Article 249

HTTDE 249

Article 250

3 250

Article 256

D
3-133033 256

Answer Key: B

Q92 This question consists of two statements one labeled as Assertion (A) and other
labeled as Reason(R) Examine these two statements carefully and select the
answer using the code given below:

Assertion (A): Public administration provides stability in the society

Reason (R): Public administration is responsible for bringing socio-economic
changes in the society

ar Y 5 7 §, e & o & ey (T) 3R g it FROT (3R) FHEl AT &1 ST S
HYAT T FAUTAGAS GUETT HITSTT TAT HET 3N GiAT:

3P (T) : A TATHA TATST H TATRAT &I T §

FROT (IR) : A TATET FIATNE - I TRacteT & SR §

Both (A) and (R) are true and (R) is the correct explanation of (A)

T 3R 3R 2kl e § U7 3R, T 6T TeY A1 §

Both (A) and (R) are true but (R) is not the correct explanation of (A)

T 3R AR Sl e § W R, T T TEI SATEAT &6 §




(A) is true but (R) is false

T HZ § W IR 38T &

(A) is false but (R) is true

D

T 38T § W IR AT &

Answer Key: B

Q9

3 This question consists of two statements one labeled as Assertion (A) and other
labeled as Reason(R) Examine these two statements carefully and select the
answer using the code given below:

Assertion (A):Proportional representation system is commonly associated with
multiparty system.
Reason(R): In this system it is easier for small parties to get some seats

ar w5y 5 7 §, e & v 3ifdeue (T) 3R gE &SR0T (3R) FHET AT &1 ST S
AT T AT TLETOT HITSTT T2UT

el 3R AT

HfAHA(T): 3T IfAfafted Jomel TAIT: Sgaely SHaedT § Hafed gl &
HRUT(IR): ST U H BIC Gell o A & TUT GTed AT 3eTThd AT I &

Both (A) and (R) are true and (R) is the correct explanation of (A)
A v 3tk 3w 2t T & e 3w, T Y o &
Both (A) and (R) are true but (R) is not the correct explanation of (A)
8 T 3R 3R S T § TRe] R, T AT T AT G §
(A) is true but (R) is false
“lewet R 3R 3HE &
(A) is false but (R) is true
? | s & g I wT d
Answer Key: A

Q94 This question consists of two statements one labeled as Assertion (A) and other

labeled as Reason(R) Examine these two statements carefully and select the
answer using the code given below:

Assertion (A): The decisions of the Security Council are binding by the majority of
9 out of 15 members, as well as each of the five permanent members.




Reason (R): These five permanent members have veto power over all security
council decisions.

ar we e o &, Forest & ve 1 31T () 3R g & ST (31R) &ET I §1 3T alt
HYeAT T FAUTAT Gaeh TETOT HITHT TAT FET I gfAT:

HiFRUT (T) : FR&T IRVe & Ao aregeiy g1 8, ar 3¢ 15ﬁ®9ﬂa@ﬁasa§ﬂﬁam
Ty &Y arg TR HEEA H F YA & ganT Ak AT ST §

HRUT (3TR): FoT YT TARN HEEAT T &I IRVG o FHAET 0T o 9 el Tl giar &

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

T 3R 31 Il T § JT 3R, T I HeY SI1EAqT ¢

B. Both (A) and (R) are true but (R) is not the correct explanation of (A)

T 3R 3R S A § o] IR, T T TEY SATEAT 781 &

C. (A) is true but (R) is false

T Hc § W IR 38T &

D. (A) is false but (R) is true

D

T 3T § e IR T &

Answer Key: A

Q95 Who has given the concept of Ideology and Ideological state apparatus?

IR &R U9 39T TS 3UHIUT T THROT fhasy gfaufea $r g ?

Louis Althusser

IS IeTYeR

Karl Marx

FToT ATFY

Gramsci

TATEHT

Anthony Giddens

T [ged

Answer Key: A




Q96 In western political philosophy separation of church and State is reflection of:

qIRaTcy TSl & & T 3R IT T gUFRoT wfafaeaet §:

Secularism

o] fAR9eTar it

Pluralism

Sgeldic Cal

Communism

qrEgare i

Communalism

HYGIIAIG, HT

Answer Key: A

Q97 Which of the following is not a characterization of modernization?

fAeATaTEe & & o smegforehrertor i faRIver =7gT &

Democracy

CIEGE]

Religious belief

A faara

Rationality

ICEEHIGHII

Secularism

ey fAdeTar

Answer Key: B

Q98 Who is the founder of the concept of 'Deconstruction'?
'feherca (fAEsaare) &Y YR & GEATISH Pl § ?

Michel Foucault

[GNER T

B |C. Levi strauss




. oy T

Laski

ST

Jacques Derrida

Dawéﬁa

Answer Key: D

Q99 Which of the following article of Constitution of India deal with the administration
of Scheduled Areas and Tribal Areas?

AR wfaere & fAeafaf@a sngeael #@ @ @i | g &l vd Sefsiedia a3 & gerde
q Tdfeed g§?

Article 244

ITeoC 244

Article 239

3o 239

Article 249

Igeoe 249

Article 246

D

IS 246

Answer Key: A

Q100 Which one of the following articles of the Constitution empowers Parliament to
create an All India Service?

HRCT HIAUTT T HITET HoTede HHG T Wl FRAT JaT T FATAT T e TeTaT
g2

Article 300

3geoe 300

Article 312

Ie3G 312

C |Article 320




e 320

Article 370

D

3gede 370

Answer Key: B




